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QUESTION 1

Which Workflow capability is required for Case Manager Integration Services? 

A. Workstream Services on containers 

B. Workstream Services traditional 

C. Business Automation Workflow on containers 

D. Business Automation Workflow traditional 

Correct Answer: D 

 

QUESTION 2

Which process capability can be started using an integration API? 

A. Business Automation Workflow 

B. Blueworks Live 

C. Business Automation Studio 

D. Workstream Services 

Correct Answer: C 

 

QUESTION 3

What Operational Decision Manager index pattern is used in Business Automation Insights out of the box? 

A. Decision summaries 

B. Time series 

C. Flow series 

D. Rule summaries 

Correct Answer: B 

 

QUESTION 4

What is the appropriate deployment strategy that refers to use a new version of application for test / evaluation while
theold, stable version is used by production user and the new version is deployed only when ready? 

A. Active-Active Deployment 
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B. Active-Passive Deployment 

C. Blue-Green Deployment 

D. A/B Deployment 

Correct Answer: C 

 

QUESTION 5

Which statement is true when using ProcessDesigner? 

A. Content objects are not accessible from Process Designer. 

B. A content object editor is available for editing content objects. 

C. A content object cannot be visualized on coaches. 

D. A content object editor is available for viewing content objects. 

Correct Answer: A 
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